Sveerere koreografier til fx stationer

2 grundtrin = american spin (d) 2
2 grundtrin = windmill 2 2
grundtrin

2 grundtrin = Bytte hand bag
herrens ryg = 2 grundtrin 2>
windmill = 2 grundtrin

2 grundtrin = stop and go =2
American spin = stop and go =2 2
grundtrin

2 grundtrin = damedrejning = 2
grundtrin = windmill 2 2 grundtrin

2 grundtrin = windmill 2 2
grundtrin = windmill = 2 grundtrin

2 grundtrin = bytte hand bag
herrens ryg = 2 grundtrin 2 bytte
hand bag herrens ryg = 2 grundtrin

2 grundtrin = stop and go =2 2
grundtrin = windmill = 2 grundtrin

2 grundtrin = stop and go =2 2
grundtrin = damedrejning = 2
grundtrin

2 grundtrin = stop and go =2 2
grundtrin = American spin 2 2
grundtrin

2 grundtrin = stop and go =2 2
grundtrin = bytte hand bag herrens
ryg = 2 grundtrin

2 grundtrin = bytte hand bag
herrens ryg = 2 grundtrin 2
american spin = 2 grundtrin

2 grundtrin = bytte hand bag
herrens ryg = 2 grundtrin 2
damedrejning = 2 grundtrin

2 grundtrin = damedrejning=> 2
grundtrin = damedrejning = 2
grundtrin

2 grundtrin = stop and go =2 2
grundtrin = windmill = 2 grundtrin
-> bytte hand bag herrens ryg

2 grundtrin = windmill 2 2
grundtrin = 2 grundtrin <> American
spin = windmill 2 2 grundtrin




